Maths

26.2.21



Mental & Oral Starter

) Calculate 5 X 12
2) Divide 69 by 3
3)  Find the product of 3,4 and 5

4) A laptop costs £4,000
A record player costs £472 less than a laptop.

How much does a record player cost?
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Mental & Oral Starter

) Calculate S X 12 60
2) Divide 69 by 3 23
3)  Find the product of 3,4 and 5 60

4) A laptop costs £4,000

A record player costs £472 less than a laptop.
How much does a record player cost?  £3,528
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WALT: Find the perimeter

S2S: 1 can
- Understand what ‘perimeter’ means

- Understand how to find the perimeter of a 2D
shape

- Apply knowledge of perimeter to problem solve
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MEASURE PERIMETER
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1) Measure the length of the rectangle.
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2) Calculate9+4 +9+4
3) Circle the multiples of 4

12 34 3 20 14



easure the length of the rectangle.

11 cm
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94+4=-13
2) Calculate9+4+9+4
) Calculate 9 +4 + 9 + 13 + 13 - 26

3) Circle the multiples of 4
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Perimeter is the length around a closed 2-D shape.

The perimeter
+  of the rectangle
IS 22 cm.
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Have a think m

Which shapes can we measure the perimeter of?

Q/
A and D
D>

L




Wow Eva! So that means that we can only find
the perimeter of closed shapes.

Chm

That’s right Tiny! There can’t be any gaps!




Earm)

Have a go at questions
1 and 2 on the @

worksheet




Perimeter is the length around a closed 2-D shape.

9cm

13 cm

9tm
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O9cm+13cm+9cm+ 13 cm = 44 cm
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Have a go at questions
3 and 4 on the @

worksheet
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Can you work out the perimeter of the square?

6m

bmx4 =24 m

bm+oe6m+oem+6m=24m
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A quadrilateral is a
4-sided 2-D shape.
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Have a think 0
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How many different rectangles can you
draw with a perimeter of 20 cm?

3cm

9cm

/7 cm

6cm

4 cm

8 cm

2 Ccm

width + length = 12 of the perimeter of a rectangle



o Tuey 2

Have a go at the rest of
the worksheet




